## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 1 - Tweeddale West
Valid Votes	4,829
Positions to be Filled	3
Quota	1,208

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Dominic ASHMOLE	Scottish Green Party	792
Drummond BEGG	Scottish Liberal Democrats	1,100
Julia REID	Scottish Labour Party	312
Eric SMALL	Scottish Conservative and Unionist	893
John SMITH	Scottish Conservative and Unionist	466
Viv THOMSON	Scottish National Party (SNP)	1,266
	Total	4,829

Candidate Viv THOMSON Elected with 1,266 votes, being in excess of the quota of 1,208

## **Transfers Report**

This report contains the transfers results.

58.00000

## Stage 2 - Surplus of Viv THOMSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dominic ASHMOLE	815	0.04581	37.33515
Transfer to Drummond BEGG	171	0.04581	7.83351
Transfer to Julia REID	97	0.04581	4.44357
Transfer to Eric SMALL	29	0.04581	1.32849
No further preference	146	0.04581	6.68826
Not transferred due to rounding			0.00454
	Total		58.00000

## **Transfers Report**

This report contains the transfers results.

## Stage 3 - Exclusion of Julia REID

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dominic ASHMOLE	74	1.00000	74.00000
Transfer to Drummond BEGG	148	1.00000	148.00000
Transfer to Eric SMALL	21	1.00000	21.00000
Transfer to John SMITH	6	1.00000	6.00000
Transfer to Dominic ASHMOLE	43	0.04581	1.96983
Transfer to Drummond BEGG	38	0.04581	1.74078
Transfer to Eric SMALL	2	0.04581	0.09162
Transfer to John SMITH	1	0.04581	0.04581
No further preference	63	1.00000	63.00000
No further preference	13	0.04581	0.59553
Not transferred due to rounding			0.00000
	Total		316.44357

. . .

316.44357

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Surplus of Drummond BEGG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dominic ASHMOLE	538	0.03942	21.20796
Transfer to Eric SMALL	282	0.03942	11.11644
Transfer to John SMITH	97	0.03942	3.82374
Transfer to Dominic ASHMOLE	134	0.00180	0.24120
Transfer to Eric SMALL	13	0.00180	0.02340
Transfer to John SMITH	2	0.00180	0.00360
No further preference	331	0.03942	13.04802
No further preference	60	0.00180	0.10800
Not transferred due to rounding			0.00193
	Total		49.57429

### 49.57429

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of John SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dominic ASHMOLE	20	1.00000	20.00000
Transfer to Eric SMALL	410	1.00000	410.00000
Transfer to Dominic ASHMOLE	4	0.04581	0.18324
Transfer to Eric SMALL	3	0.04581	0.13743
Transfer to Dominic ASHMOLE	8	0.03942	0.31536
Transfer to Eric SMALL	45	0.03942	1.77390
Transfer to Eric SMALL	1	0.00180	0.00180
No further preference	42	1.00000	42.00000
No further preference	2	0.04581	0.09162
No further preference	44	0.03942	1.73448
No further preference	1	0.00180	0.00180
Not transferred due to rounding			0.00000
	Total		476.23963

### 476.23963